MTH-140 Answers Review for Test 2 Luczak
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. (x+h)+1 x+1
2. Ilm( ) =— ! >
3. Yes. No. Curve not smooth, so limits from the left and right will not be equal.
4. x=-2,2
5. a.56 b.58
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h. f(x)=-3(IN10)10° cscaxcotdx i, y'= 00X . tan(inX)
(1+sinx) X
k. y':2x+£3
X
7. y=2

8. No, function cannot equal 0.

9. a. f'(x)=x*-4x-5b. (—l,%j and (5,—%)

10.5
11.a. f (x):(eszrl)3 b. f (x)=+/Inx

12. TRUE, sixth derivative would be a constant.
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5 (fah)=—(f (gh))

13. = f (gh'+hg")+ f'(gh)
=f'gh+ fg'h+ fgh'

14. done in class, see notes

15. False. Need product rule.



